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KCLa:
l=12=]

Vcc-11.R1-12.R2=0

_La&KVL:

Vcc = .R1 + LR2 = I(R1+R2)

| =Vec/(R1+R2)
Va = (R2)




KCL a:
Isource = |11 + 12

KVL :

+11.R1-12.R2=0 or 11.R1=12.R2=Va

Isource = Va/R1 + Va/R2

12 =Va/R2 - 12 = |1.R1/R2-12/I1 = R1/R2

Isource = |1 + 12 = Va/R1 + Va/R2 = (R2.Va+R1.Va)/(R1.R2)
Isource = Va(R1+R2)/(R1.R2)

Va = Isource(R1.R2)/(R1+R2)
11 = Va/R1
12 = Va/R2

Short circuit ;
I=Vth/R
Open circuit
V = Vih

Short circuit :
| = Ino
Open circuit :
V=Ino.R

P as gl V7

e g 0y yaidu cyind e ud
lth = Ino—»Ino = Vth/R
Vth=Vno-+Vth=Ino.R
Rth = Rno




KCL:4:

12=13

KCL 2 :

M=12+14

KVL 1:
Vec-11.R1-12R2-13.R3=0
KVL 2:

Va -l4R4 +|12.R3 +I12.R2 = Va
—14R4 +|12.R3 +|12.R2 =0

-» [2(R2+R3) = 14.R4

=*» 14 = |2( (R2+R3)/R4 )

KVL 1 & KCL 2:

Vee - (12+14)R1 - 12.R2 - 12.R3 =0
& KVL 2:

Vee — 12[ ( (R2+R3+R4)/R4 ) R1-R2-R3]1=0

KCLa:

+1 +2-3=0~p11+12=13
KVL 1:
+V1-11.R1-I13.R3=0

KVL 2:

+\V2 -12.R2 -I3.R3 =0

KVL 3:

Va—-I13.R3=0 Va=13.R3 & I3=Va/R3
KVL 1 & KVL 3:

V1 -11.R1 =Va-u 11 = (V1-Va)/R1 : ohm's law
KVL 2 & KVL 3:

V2 -12.R2 = Va-»12 = (V2-Va)/R2 : ohm's law

KCL a:
1I3=11+12 Va/R3 = (V1-Va)/R1 + (V2-Va)/R2
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http://www.facstaff.bucknell.edu/mastascu/eLessonsHTML/Basic/Basic2i.html
http://www.facstaff.bucknell.edu/mastascu/eLessonsHTML/Basic/Basic3v.html

http://www.facstaff. bucknell.edu/mastascu/elLessonsHTML/Basic/Basic6PE.html
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